Guess the device from i-v plot
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Guess the device from i-v plot

'}
T b, f
a. resistor
a.
b. voltage source
‘ - C.
‘ ' C. current source
Vour d. open circuit (relates to c and a)
e. short circuit (relates to b and a)
f. voltage source in series w/resistor
current source in parallel w/resistor
2. Sipyrdt g. .
dip,/dt  h. g. capacitor

h. inductor

Vour



Guess the device from a physical
unknown component




Determine the i-v relationship
of an unknown device.
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o Ay Determine the i-v relationship
of an unknown device.
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Measure Vi
lou™= 1rR=VR/100

Known Resistance, 100
(to determine current)

= Plot the i-v curve. Determine
Save Results = the DUT value. How does it
to an Excel File. compare to the actual value?




Example: Set up
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Example: ig(vg)=7?
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Example: iR(vR)=?
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Resistor Example: i, = vg/R
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R = vplig = 1/(i-v slope) = 100*(AC1)/(aC2)
Resistance = 10V/.00015A = 67 kQ




Resistance = 68 kQ
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